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ke Lookand thi:??
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| What is@is ate™
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Y {4 One

‘IIIIIIIIIIIIIIIIIIII.

Y Look, write and colour:

[ n
= = [
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| e —

e Write in Wits:

|1 —

01022744086 , JAS s el /1 ||
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* Colour three apples:

L0006
Look, write and colour:

01022744086 JAS ia oyl /1
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) e Do 3 3oLl (eaia B0 4dle Aadle _57 ?“‘ rats 5 Sl oes
e Colour one using red, two using yellow and three using green:

INININININ /N

% Count and complete:

* Draw according to fqﬁe

\7 v . :.
0 I\QOne(H Three(3)

* Count 3ndmatch:

P
> 000
2 (3) 1)

01022744086 JAS s el /1|
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*Count and match:

‘_....‘ '..--‘ 'z‘
\"r \’f w7

01022744086 JdS ia oyt /1
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*Look and match:

| 01022744086 o e AN |
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01022744086 QS s oyl /1
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* Circle four items:

%% sSS VO®
Lo £rS OO

* Count and match:

e 4

4
2l

/ \'.‘! ¥
\.t w7 \'t

& &

01 !!2744086
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* Colour according to the given number:

YOO
QX @AY

Pk @X ke
YR

@

@

% Join the equal sets: \

&

AN
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% Look, write and colour:

Five

Five

T
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Draw five flowers:

L;-;T?!Zf}j}

& APy L o)

S i - R
f'\ i ({'\ﬂﬁ},u

S "
;59
il ,'T.'.{r
ZEy AT
AR L e
AR »\_C “}:{:

e A

% Complete: 7

1- He has ....... 84rS.

3
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¥ Circle according to the given number:

KKK B B ® B P
KKK || KX Fo

(3 O @
¢ Circle the greatest set: \
,;\

’ 2z \ ' 2 _ -
\!’ 'S..I - " \
'e w7

.7
o, s, NG - 'De
wsS N

!.\

¥ Count a%mplete

O oo OO c%)o

01022744086 > JAS ia oyl /1
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Number line Sy

| I
0 2 3 4
S:

I
|
*Complete the missing number
|
|

| ] |
I I | I
0 sw s s
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Slx

I E B E BN HEEEEEN N HEN m m _
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% Count and write the number in letters:

01022744086
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Y Draw stars according to the given number:

N\

% Count andi»a ?]/
Qq@\/wvv\
#\ RR R R
(5)  aoacas
666640

JalS s Gl /1
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.--......-....-..--.-...

% Look, write and co

Seven

Scanned by CamScanner
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% Count and match:

866660

01022744086 JAS ia oy /1
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% Count and complete:
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S

01022744086
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w Look, read and write: — ===

01022744086 o Qe s el /|
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% Count and complete:

00000000

01022744086 } JAS s cyad /|
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% Count and match:

CCCOOGC (7)  sanamamn

DDIVVIDDD
B8 BB BB B o Rk BB
b

Q08008008
88888888

OB

% Read, think and complete:

1- The number just after 6 is

2- The number just before 2 is

01022744086 JdS ia oyl /1

PR
<2 ﬁ)
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% Read, think and complete:

6- The number for }\&

7-Then y
ylmbeK ore9is

Y Read, thi 1t and write how many letter the word has?
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% Count and match:

Four
Nine

Seven
One
Three
Five
Two
Six
Eight

O @ ~NP | A N -

DR

01022744086
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Ten

\7- ,Ab&

r Draw and coldtften
4 b}%\@%

\ 7

01022744086 s JAS s el /1|
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% Count and match:

olelefe

OO
O
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% Complete the table:

0
Zero| ...

Three
4
Four
5
Five
6
Six
7
Seven
8
Eight
9
Nine
10
Ten
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Number line 2
0O 1 2 3 5 t\%

% Complete the missing numbers:
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*Complete in the same pattern:

10

5

10

10

10

01022744086

JalS s Gl /1
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v Look and write in ( digits and letters ) the number:

U T I |

01022744086
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* Write the number just before:
<€
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* Colour the birds:

Scanned by CamScanner



¢ 31 5aluall Gia B0 4pile dadle ol ansl (55 5 SAall yrs

* Circle the cars set and the bikes set:

01022744086
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* Look, read, think and answer as in the examplqz

Every set has 3 apples.

There are 3 sets.

Every set has ... apple

There are... sets "

Every set has ... apples.

There are... sets.

01022744086
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¢S 31 3oLl (eaia B0 4dle Aadle ] anl 92 3 SAall yas |
i Look, read, think and answer using < , = or > & n the example:

The set of ' than the set of ' ;

01022744086 JdS ia cyad /1
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* Look, and draw to make equal sets:

A A:

% Put(v") unde@sm&m

<

(

01022744086 & JAS ia oyl /1
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x Join / match the equal sets:

SN T a*fg‘if;‘, PN Ty
.. L P L L F
Yog o R
< xf:‘.{!; =4 \;‘_‘.g{%f'._'}f)' )
% A A
. . . . T
e R
=5 ff’; =7 Ty 'II/_ z
|\— d

JAVAVA
AAA
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* Choose the correct answer:

Number of cats is(gcgyflesyt\hmber of mouses

)’q,/,

Number of @ is ( greater - less ) than the number of ",

01022744086 JAS ia oy /1
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han <

@ Greater than > o
01022744086 QS s ol /1|
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5 j é.*- . 6 G - Ly tj:ﬁ 3 ﬂj j

12) Equalto= (2

c,

33 -f

% Read, th @d i‘@\ [<)or (=):

10 11

10 0

01022744086
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v Read, think and complete:

10

¢

‘B%‘
o

1

JalS il el /1
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% Read, think and answer using (>} (<)or (=)

01022744086 & JAS s el /1 ||
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% Lok, count and answer using (>} (<)or (=]

{\,-— ,--—\
Via £ {"“"' e i
\ W
by ﬂ/_ r
\ \
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% Read and circle the correct answer. \i

¢ [13 15
y  [10 11
>
<

13

9

15

=N 16

13| |14

15| (16
12] |13

<
<

01022744086 o JAS Hila oy /

Scanned by CamScanner



b ok sl e GO AN o ot oy 5 S0 s |

% Look, complete and colour:

| 01022744086 G JAS s el /1 ||
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% Read,think and complete:

5

8

JalS il el /]

Scanned by CamScanner



% Count,think and angwer using (>}, (<) or (<)

% o @
A A

01022744086
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* Count and match:

15

12
18

N

P

00| OO
Q0| OO0

QOO| OO0

Q00| OO0
g dlielele]|niun]n

>BB 000|000

DD
>BD
>D>D

w Look, gunt aid E[fj/\et!e b‘

01022744086 - DS s oyl /1
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* Complete in the same pattern:

1
11

Scanned by CamScanner
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v Read, think and complete:

4

Scanned by CamScanner
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v Count and circle the correct number;

JeS i ol 7

Scanned by CamScanner
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* Look and write in ( digits and letters ) the number:

“““

086 -
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% Look, complete and colour:

w Look, complete and colour:

: 5 10 16
|!||||I||||I|I||!

01022744086 JAS s el /1|

G
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% Read, think and answer using < , = or>

JalS s Gl /1
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_Ones & Tens _

v Look, read and complete as in the example:

Tens 1118

|1~

II\ )

i -
= Tens
I22 = ... Ones & Ten;f T

|10- ..... Ones&\ﬁns

=i
*Lou@

(R 1 R |
JRS i
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TenS; knes

|
Teré }nes

65
Tenég }}ne;s

Tens

10 Tens = 10
20 Tens = 20
30 Tens = 30
40 Tens = 40

50 Tens = 50
60 Tens = 60

70 Tens = 70
80 Te@
o

* Read af -

12=.....0nes +
14=....0nes +
13=.....Ones +
15=.... Ones +
01022744086

Tens
Tens

Tens

‘{@
o

Tens

Ones

295 = 1
%es 4
Ones =

6 Ones =
7 Ones= 7

8 Ones= 8
90nes= 9

Bpmplete as in the example:

1T = i
16 = .cuess

19 =
8=

JalS s Gl /1

Tens
Tens

Tens
Tens

Ones +
Ones +

Ones + .....
Ones +

Scanned by CamScanner
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* Read and complete as in the example:

Ones Tens

90

24
91

64
78

45

16

40
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* Read and complete as in the example:

22 = ...... 0nes + ..... Tens = Tens
44 = ... 0nes + ... Tens Tens

33 =...... ONeS +..... Tens Tens
55 =....0nes +..... Tens Tens

32=....0nes +.... Tens ness
54=....0nes +...Ten es+ Tens

63 = Ones + Ones + e 1ENS
Ones $ e TENS

2 =.....0nes +..... Tens

Ones Tens 76 =..... Ones +.... Tens
23 = ...... Ones + ... Tens 10=....0nes +..... Tens
69 =..... Ones + ..... Tens 78=.... 0nes +..... Tens

01022744086 JAS ia oyl /1
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* Read and complete as in the example:

35=50nes + 3 Tens =7 0Ones +4 Tens

..=10nes +2Tens =9 Ones +4 Tens
.= 3 0nes +4 Tens Ones + 2 Tens

.= 50nes + 4 Tens \\0 Ones +6
"\

P

=1 Ones + 3W .bknes +4Tens

. =90nes + .. =06 0nes + 4 Tens

«.=90nes +2Tens
=1 0nes +4 Tens

T e
e

01022744086 - JAS ia oyl /1
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Addition and Subtraction
ololo0® OO

White circles =5

Q
Al circles = 55}\

01023744086 o JAS s oyad /|
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% add as in the example:

1+0= 1

01022744086 o JAS s cyad /|
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% add as in the example:

4+0= 4

01022744086 o JAS ia oyl /1
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w add as in the example:

r+0= 7

Scanned by CamScanner
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% add as in the example:
10+ 0 = 10 10+ 5 =-eeeee-

10+ 1 =+ 10+ 6 =+
10+2: ....... 10.|.7_ .......

10+3— ....... 10¥\8_ .......
10+ 4 =.......

% Read, th'“chﬁ

1- Soh I q’p{)ﬂpounds)anda book
‘“T;:f Y
Soh '\ .......... - E— pounds.

2- Ahmed bought a ball ( 5 pounds ) and a toy
(4 pounds ).

Ahmed paid = ....... L — J— pounds.

Scanned by CamScanner
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¥ R@fthimxﬁq{omplete:
Ahmed boupa plane ( 5 pounds ) and a car

(4 pounds ).
Ahmed paid = ....... SR —— pounds.
01022744086 A JalS s el /
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% Read, think and complete using (>), (<) or (=):

2 +6 J[ 3+44....2+5 J

9+0..... 5+4
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Y Read, think and circle the correct answer:

-

2+3=._...(3,4,5)

-
y

| (3+3=....

1 (3+2=...

10+0=.....

I ‘4
S+4= ..

JalS s Gl /1
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% Look and write:

% Read, think an

_)

01022744086

cr EEEsmaas
] 3'\ _
=

34

33
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* Write the number just before:
D e < <

01022744086
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% Complete in the same pattern:

10
20

10

16 18

26
01022744086
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*Look, think, complete and colour:

01022744086
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v Read, think and complete:

A group of friends consists of 5 children. 3 other children joined
them. What is the number of children in the new group?

The number of children=............. +

Ali has 3 candies and he bought another
have?

The number of candies = ......... .

ples:
& (L\_/*\iubtract

(2.,4,6)] |

ey

6,2,8)] |

01022744086
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Y Read, think and circle the correct answer:

(3,4,5) ] [8-3= ... (3,4,5)

L

| 13-4=__. (7,8,9)

10 - t\
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¥ Subtract as in the example:

—

3
3
3
3 .
3.
3
3 -
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% Add as in the example:

1M1+0= 11
11 + 1 Zeeeeens
11 + 2 =eerenn.
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% Subtract as in the example:

11-0= 11
11 -1 = oo

11-3 = oeene.
11 -4 =-un. .
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* Look, read, count, think, and add as in the examples;

5

_l_

- i.

01022744086
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X Read, think and complete using (>), (<) o (=)

T '

9+4 .. 2+5

Scanned by CamScanner
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w Look, think,

and answer:

Ali caught 4 €k and Rami caught 2 €&
Find the number of €& with both.

The number _

of fish

Wael h ':5-.
Ho n&
| ¥ |

What Wael _
has ™

01022744086

ig(}(cmd 4 8 in English
I 7}

ael have ?

JalS s Gl /1
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31

32

33

34

35

36

37

38

* Complete in the same pattern:

S ZAVAV

01022744086

/

JalS s Gl /1

.
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% Complete in the same pattern:

@@@@@
O @ RY;

@@@@@

@@OO

@@@@@
® O Q Q@

| 01022744086 o JulS ks cpad /




| o5 1 R o O A hndabls: ol maah frdy 90 g |

e
Hour = 60 minutes
The clock has 2 hands.

Long hand Is the minute hang.
Short hand is the hour ha

w Lok, read, think, and amﬁ | mples:

X
q//\
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01022744086 & JAS s 0wl /1]
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% Look, count and complete:

01022744086 JAS s el /1|
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% Look, count and match:

01022744086 DS s oyl /1
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% Arrange the following in ascending order.

| Q
.................................. i A{/\

45 34 82 13

34 71 Q52

JalS il el /]
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K Arrange the following in descending order.

2

O

24 91 72

01022744086
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1

2

3

4

5

7

8

9

10

1

12

13

14

15

17

18

19

20

21

22

23

24

25

27

28

29

30

31

32

33

34

35

39

40

41

42

43

44

21

52

54

61

62

64

71

72

74

81

82

84

@

91
wLo
21

2| 193
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43

47

50
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93

99

¥ Complete in the same ri ttern:

40

43

51

61

71

81

91

20

30

40

50
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60

62

69

70

79

80

89

90

92

99

=

=
w )

11

97

15
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* Read, think and complete using (>), (<) or (=):

27
28
29
12
13
14
40
17
15
16

18
19

90
80

70
50
60

60
90

40
30
20
10

91
81

29
22

27
14
15
16

42

60

17 60
S0

40
30
20

10
91
81

71
51

61
41

31
92

70
72

62
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% Subtract as in the example:

s
o-10-" |

01022744086 SAS s el /1 ||
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% Add as in the example:
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* Subtract as in the example:

9-1=98 | 79-1=... | 59 -1= ...
985 1= g | T8 21 =4 58 -1=....
97 -1=... 77-1=... 57 -1=....
B%-1=.... | 76-1=....
95-1=....
94 -1=...
893 =1 =
92+ 1=
91-1=...
9 - 1= s

59 & 1 = g

88-1=p... |
87-1‘&
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